
Easy Math Word Problems #3
Fresh fruit salad anyone?

Use addition or subtraction to solve the word problems.

answers
Fruit Salad #1

Let's make a fruit salad! Put 5 grapes in a bowl. Add 6 pieces of 

watermelon. Put 3 cut-up strawberries in the bowl. Finally, add 4 slices 

of banana. How much fruit is in the bowl altogether?

5 + 6 + 3 + 4 = 18

Fruit Salad #2

How about a different version? Put 12 melon balls in a bowl. Add 8 

slices of orange and 14 blueberries. How much fruit is there 

altogether?

12 + 8 + 14 = 34

Fruit Salad #3

This fruit salad has already been put together but it has too many 

raspberries. There are 16 raspberries but you want only 9. How much 

less raspberries do you need?

16 - __ = 9

7
Fruit Salad #4

This fruit salad is already made as well. It has lots of good fruit but 

not enough grapes. There are only 6 grapes and you would like 18. How 

many more grapes do you need?

6 + __ = 18

12
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